

S. MARCHI and T. NORANDO (*)

Homogenisation estimates for variational inequality of parabolic type (**)

1 - Introduction and results

We set $Y = \prod_{i=1}^n [0, y_i] \subset \mathbf{R}^n$ ($n > 1$), $\tau_0 = [0, k_0] \subset \mathbf{R}$, $k_0 > 0$ fixed. Let $\pi = Y \times \tau_0$; we consider functions $a_{ij}(y, \tau) \in C^2(\pi)$, $i, j = 1, 2, \dots, n$, such that

$$\sum_{i,j=1}^n a_{ij}(y, \tau) \xi_i \xi_j \geq \alpha |\xi|^2, \quad \alpha > 0 \quad \forall \xi \in \mathbf{R}^n, \quad \text{a.e. in } \pi.$$

The $a_{ij,s}$ can be extended periodically to $\mathbf{R}^n \times \mathbf{R}$.

Let us associate the family of operators P^ε to the functions a_{ij} defined by

$$(1.1)_\varepsilon \quad P^\varepsilon = \frac{\partial}{\partial t} - \sum_{i,j=1}^n \frac{\partial}{\partial x_j} \left(a_{ij} \left(\frac{x}{\varepsilon}, \frac{t}{\varepsilon} \right) \frac{\partial}{\partial x_i} \right) \quad (\varepsilon > 0),$$

where $x = \varepsilon y$, $t = \varepsilon \tau$. And we set

$$(1.1)_0 \quad P^0 = \frac{\partial}{\partial t} - \sum_{i,j=1}^n a_{ij}^0 \frac{\partial^2}{\partial x_j \partial x_i},$$

where a_{ij}^0 are suitable constants such that P^0 is the homogenization operator of the P^ε [1].

(*) Indirizzi: S. MARCHI, Istituto di Matematica, Università, 43100 Parma, Italy; T. NORANDO, Istituto di Matematica del Politecnico, Piazza L. Da Vinci 32, 20133 Milano, Italy.

(**) Lavoro eseguito nell'ambito del G.N.A.F.A. (C.N.R.). — Ricevuto: 2-XI-1982.

Let Ω be a bounded open set of \mathbf{R}^n with smooth boundary $\partial\Omega$ and $T > 0$ fixed, we set $Q = \Omega \times (0, T)$.

For any given function $\psi \in L^2(Q)$, we set $K^\psi = \{v \mid v \in L^2(0, T; H_0^1(\Omega)), v \leq \psi \text{ a.e. in } Q\}$. We assume $\psi \in C^{\beta, \beta/2}(\bar{Q})$, $u_0 \in C^\beta(\bar{\Omega})$ ($0 < \beta < 1$).

Let $u^\varepsilon = S^\varepsilon(\psi, u_0)$ be the weak solution, for any $\varepsilon > 0$, (in the sense of [5], [10]) of the variational inequality

$$(1.2)_\varepsilon \quad \begin{aligned} \langle P^\varepsilon u^\varepsilon, v - u^\varepsilon \rangle &\geq 0 \\ \forall v \in K^\psi, \quad u^\varepsilon &\in K^\psi, \quad u^\varepsilon(0) = u_0. \end{aligned}$$

We have, from [3],

$$(1.3) \quad \|u^\varepsilon\|_{C^{\beta, \beta/2}(\bar{Q})} \leq C \quad (\varepsilon > 0),$$

where C does not depend on ε and $\{u^\varepsilon\}_{\varepsilon > 0}$ converges weakly to u_0 in $L^2(0, T; H_0^1(\Omega))$ for $\varepsilon \rightarrow 0$.

We can prove, by the same method used in [1] for the elliptic case, that $\{u^\varepsilon\}_{\varepsilon > 0}$ converges strongly to u^0 in $L^2(0, T; H_0^1(\Omega))$ for $\varepsilon \rightarrow 0$.

In this paper, we give estimates on the rapidity of convergence in dependence on the smoothness of ψ and u^0 . In particular we prove the following results.

Theorem 1. *If we assume, for some $r > n + 1$, that (i) $\|P^\varepsilon \psi\|_{L^r(Q)} \leq C$ for any $\varepsilon > 0$, (ii) $\psi_0 = \psi(\cdot, 0) \in W^{2,r}(\Omega)$, (iii) $u_0 \in W^{1,r}(\Omega) \cap H_0^1(\Omega)$, (iv) $\sum_{i,j=1}^n a_{ij}^0 \cdot (\partial^2 u_0 / \partial x_i \partial x_j) \in H_0^1(\Omega)$, then*

$$(1.4) \quad \|u^\varepsilon - u_0\|_{L^\infty(Q)} \leq C \cdot \varepsilon^{\alpha/(n+3\alpha)}.$$

Theorem 2. *If we assume, for some $r > n + 1$, that (i) $\psi \in W^{1,\infty}(0, T; W^{-1,r}(\Omega)) \cap L^\infty(0, T; W^{1,r}(\Omega))$, (ii) $\psi_0 = \psi(\cdot, 0) \in L^2(\Omega)$, then we have*

(a) *if $u_0 \in W^{2,r}(\Omega) \cap H_0^1(\Omega)$,*

$$(1.5) \quad \|u^\varepsilon - u^0\|_{L^\infty(Q)} \leq C \cdot \varepsilon^{\alpha/2(n+3\alpha)},$$

(b) *if $u_0 \in W_0^{1,r}(\Omega)$,*

$$(1.6) \quad \|u^\varepsilon - u^0\|_{L^\infty(Q)} \leq C \cdot \varepsilon^{\alpha/4(n+3\alpha)}.$$

Theorem 3. *If, for some β ($0 < \beta < 1$), we have (i) $\psi \in C^{\beta, \beta/2}(\bar{Q})$, (ii) $u_0 \in C_0^\beta(\bar{\Omega})$, then*

$$(1.7) \quad \|u^\varepsilon - u^0\|_{L^\infty(Q)} \leq C \cdot \varepsilon^{\alpha\beta/4(n+3\alpha)}.$$

2 - Preliminary results

We consider now, for any $\varepsilon \geq 0$, the penalized problem

$$(2.1)_{\varepsilon, \lambda} \quad P^\varepsilon u_\lambda^\varepsilon + \frac{1}{\lambda} (u_\lambda^\varepsilon - \psi)^+ = 0, \quad u_\lambda^\varepsilon(\cdot, 0) = u_0 \quad (a > 0).$$

We prove two lemmas.

Lemma 1. *If we assume that, for any $\varepsilon > 0$ and for some $r > n + 1$,*

(i) $\|P^\varepsilon \psi\|_{L^r(\mathcal{Q})} \leq C$, *we have*

$$(2.2) \quad \|P^\varepsilon u_\lambda^\varepsilon\|_{L^r(\mathcal{Q})} \leq C \quad \text{for some } \varepsilon, \lambda,$$

$$(2.3) \quad \|u_\lambda^\varepsilon - u^\varepsilon\|_{L^r(0, T; H_0^1(\Omega))} \leq C\lambda^{\frac{1}{2}}.$$

Lemma 2. *In the same hypothesis of Lemma 1, we have*

$$(2.4) \quad \|u_\lambda^\varepsilon - u^\varepsilon\|_{L^\infty(\mathcal{Q})} \leq C \cdot \lambda^{\alpha/(n+2\alpha)}.$$

Proof of Lemma 1. We multiply (2.1) _{ε, λ} by $[(1/\lambda)(u_\lambda^\varepsilon - \psi)^+]^{r-1}$, we obtain

$$\begin{aligned} & \frac{1}{\lambda^{r-1}} \langle P^\varepsilon (u_\lambda^\varepsilon - \psi), [(u_\lambda^\varepsilon - \psi)^+]^{r-1} \rangle + \frac{1}{\lambda^r} \|(u_\lambda^\varepsilon - \psi)^+(t)\|_{L^r(\Omega)}^r \\ &= \frac{1}{\lambda^{r-1}} \langle -P^\varepsilon \psi, [(u_\lambda^\varepsilon - \psi)^+]^{r-1} \rangle. \end{aligned}$$

We have

$$\begin{aligned} & \frac{1}{r\lambda^{r-1}} \frac{d}{dt} \|(u_\lambda^\varepsilon - \psi)^+(t)\|_{L^r(\Omega)}^r + \frac{1}{\lambda^r} \|(u_\lambda^\varepsilon - \psi)^+(t)\|_{L^r(\Omega)}^r \\ & \leq \frac{1}{\lambda^{r-1}} \|P^\varepsilon \psi(t)\|_{L^r(\mathcal{Q})} \|(u_\lambda^\varepsilon - \psi)^+(t)\|_{L^r(\Omega)}^{r-1}, \end{aligned}$$

and, by (i), we obtain for any t ($0 < t < T$)

$$\frac{1}{r\lambda^{r-1}} \|(u_\lambda^\varepsilon - \psi)^+(t)\|_{L^r(\Omega)}^r + \frac{1}{\lambda^r} \|(u_\lambda^\varepsilon - \psi)^+\|_{L^r(\Omega \times (0, t))}^r \leq \frac{c}{\lambda^{r-1}} \int_0^t \|(u_\lambda^\varepsilon - \psi)^+(s)\|_{L^r(\Omega)}^{r-1} ds.$$

Then we have $\|(u_\lambda^\varepsilon - \psi)^+(s)\|_{L^r(\Omega)} \leq c\lambda$ a.e. $s \in (0, t)$ and

$$(2.5) \quad \frac{1}{\lambda} \|(u_\lambda^\varepsilon - \psi)^+\|_{L^r(\Omega)} \leq C \quad \text{for any } \varepsilon, \lambda,$$

and, by (2.5), (2.1) _{ε, λ} , (2.2) follows.

We assume now $v = u_\lambda^\varepsilon - (u_\lambda^\varepsilon - \psi)^+$ in (1.2) _{ε} , (we observe that $u_\lambda^\varepsilon - (u_\lambda^\varepsilon - \psi)^+ \in k^v$), and we multiply (2.1) _{ε, λ} by $w - u_\lambda^\varepsilon$, $w \in K^v$. We have

$$(2.6) \quad \langle P^\varepsilon u^\varepsilon, (u_\lambda^\varepsilon - u^\varepsilon) - (u_\lambda^\varepsilon - \psi)^+ \rangle \geq 0,$$

$$(2.7) \quad \langle P^\varepsilon u_\lambda^\varepsilon, w - u_\lambda^\varepsilon \rangle = \frac{1}{\lambda} \langle (u_\lambda^\varepsilon - \psi)^+, u_\lambda^\varepsilon - w \rangle \geq 0.$$

By (2.7), we have in particular

$$(2.8) \quad \langle P^\varepsilon u_\lambda^\varepsilon, u_\lambda^\varepsilon - u^\varepsilon \rangle \leq 0.$$

By (2.6), (2.8)

$$\langle P^\varepsilon (u_\lambda^\varepsilon - u^\varepsilon), u_\lambda^\varepsilon - u^\varepsilon \rangle + \langle P^\varepsilon u^\varepsilon, (u_\lambda^\varepsilon - \psi)^+ \rangle \leq 0,$$

$$\frac{1}{2} \frac{d}{dt} \|(u_\lambda^\varepsilon - u^\varepsilon)(t)\|_{L^2(\Omega)}^2 + \alpha \|(u_\lambda^\varepsilon - u^\varepsilon)(t)\|_{H_0^1(\Omega)}^2 \leq \|(P^\varepsilon u^\varepsilon)(t)\|_{L^2(\Omega)} \|(u_\lambda^\varepsilon - \psi)^+(t)\|_{L^2(\Omega)}.$$

Then, in virtue of (2.5), (2.2),

$$(2.9) \quad \int_0^T \|u_\lambda^\varepsilon - u^\varepsilon\|_{H^1(\Omega)}^2(t) dt \leq C\lambda.$$

Proof of Lemma 2. Let α be the De Giorgi-Nash index, dependent on P^ε and r [7], by Lemma 1 we have

$$(2.10) \quad \|u_\lambda^\varepsilon\|_{C^{\alpha, \alpha/2}(\bar{Q})} \leq C.$$

We consider now the extensions of u_λ^ε and u^ε by zero from Q to \mathbf{R}^{n+1} . We fix a point $(x_0, t_0) \in Q$ and a real positive number ϱ such that $t_0 + \varrho^2 < T$, $t_0 - \varrho^2 > 0$. We set, for any $t \in (0, T)$,

$$B(\varrho, t) = \{(x, t) \mid |x - x_0| < \varrho\},$$

and we consider the mean value of $|u_\lambda^\varepsilon - u^\varepsilon|$ over the cylinder having basis $B_1 = B(\varrho, t_0 - \varrho^2)$ and $B_2 = B(\varrho, t_0 + \varrho^2)$ and height $2\varrho^2$.

$$\begin{aligned} \frac{1}{2\varrho^2} \int_{t_0 - \varrho^2}^{t_0 + \varrho^2} \frac{1}{|B(\varrho, t)|} \int_{B(\varrho, t)} |u_\lambda^\varepsilon - u^\varepsilon| \, dx \, dt &\leq \frac{C}{2\varrho^2} \int_{t_0 - \varrho^2}^{t_0 + \varrho^2} \|u_\lambda^\varepsilon - u^\varepsilon\|_{L^n(B(\varrho, t))} \, dt \\ &\leq \frac{C}{2\varrho^2} \int_{t_0 - \varrho^2}^{t_0 + \varrho^2} |B(\varrho, t)|^{(2-n)/(2+n)} \|u_\lambda^\varepsilon - u^\varepsilon\|_{L^2(\Omega)} \, dt \\ &\leq \frac{C}{2\varrho^2} |B(\varrho, t)|^{(2-n)/(2+n)} (2\varrho^2)^{1/2} \|u_\lambda^\varepsilon - u^\varepsilon\|_{L^2(0, T; H_0^1(\Omega))} \leq C\lambda^{1/2} \varrho^{-n/2}. \end{aligned}$$

Then in the cylinder, by (2.10), we have

$$(2.11) \quad |u_\lambda^\varepsilon(x, t) - u^\varepsilon(x, t)| \leq C \cdot \lambda^{1/2} \varrho^{-n/2} + C\varrho^\alpha,$$

and, choosing $\lambda^{1/2} = \varrho^{(n+2\alpha)/2}$, we prove (2.4).

3 - Proof of Theorem 1

We apply the multiple scale method to the problem (2.1) _{ε, λ} . We observe that, by hypothesis, we can assume

$$(3.1) \quad u_\lambda^0 \in L^\infty(0, T; W^{2,r}(\Omega) \cap H_0^1(\Omega)).$$

From (3.1), (iv), ([8] p. 341),

$$(3.2) \quad u_\lambda^0 \in W_r^{2,1}(Q),$$

and, because in this case $P^0\psi \in L^\infty(0, T; L^r(\Omega))$,

$$(3.3) \quad (u_\lambda^0 - \psi)^+ \in W^{1,\infty}(0, T; L^r(\Omega)),$$

$$(3.4) \quad (u_0 - \psi_0)^+ = 0.$$

Therefore, by (iii),

$$(3.5) \quad \left\| \frac{\partial u_\lambda^0}{\partial t} \right\|_{W_r^{2,1}(Q)} \leq \frac{C}{\lambda},$$

$$(3.6) \quad \|u_\lambda^0\|_{L^\infty(0, T; W^{3,r}(\Omega))} \leq \frac{C}{\lambda}.$$

We set, as usually

$$P^\varepsilon = \varepsilon^{-2}Q_1 + \varepsilon^{-1}Q_2 + Q_3,$$

where: $Q_1 = A_1$, $Q_2 = \frac{\partial}{\partial \tau} + A_2$, $Q_3 = \frac{\partial}{\partial t} + A_3$, $A_1 = -\sum_{i,j=1}^n \left[\frac{\partial}{\partial y_j} a_{ij}(y, \tau) \frac{\partial}{\partial y_i} \right]$,

$$A_2 = -\sum_{i,j=1}^n \left[\frac{\partial}{\partial y_j} (a_{ij}(y, \tau) \frac{\partial}{\partial x_i}) - \frac{\partial}{\partial x_j} (a_{ij}(y, \tau) \frac{\partial}{\partial y_i}) \right],$$

$$A_3 = -\sum_{i,j=1}^n \frac{\partial}{\partial x_j} (a_{ij}(y, \tau) \frac{\partial}{\partial x_i}), \quad \tau = t/\varepsilon, \quad y = x/\varepsilon.$$

We can write: $v^\varepsilon = u_\lambda^0 + \varepsilon\chi_1 + \varepsilon^2\chi_2$, where $\chi_j = \chi_j(x, y, t, \tau)$ ($j = 1, 2$) are Y -periodic in y and τ_0 -periodic in τ .

We assume $w_\lambda^\varepsilon = u_\lambda^\varepsilon - v^\varepsilon$ and we have

$$\begin{aligned} (3.7) \quad P^\varepsilon w_\lambda^\varepsilon + \frac{1}{\lambda} (u_\lambda^\varepsilon - \psi)^+ - \frac{1}{\lambda} (u^0 + \varepsilon\chi_1 + \varepsilon^2\chi_2 - \psi)^+ \\ = -[Q_1\chi_2 + Q_2\chi_1 + Q_3u_\lambda^0 + \frac{1}{\lambda} (u_\lambda^0 - \psi)^+] \\ - \varepsilon(Q_3\chi_1 + Q_2\chi_2) - \varepsilon^2Q_3\chi_2 + \frac{1}{\lambda} (u_\lambda^0 - \psi)^+ + \frac{1}{\lambda} (u_\lambda^0 + \varepsilon\chi_1 + \varepsilon^2\chi_2 - \psi)^+. \end{aligned}$$

We choose now

$$(3.8) \quad \chi_1 = -\sum_{i=1}^n \theta_i(y, \tau) \frac{\partial u_\lambda^0}{\partial x_i},$$

where $A_1(\theta_i - y_i) = 0$, $\theta_i(y, \tau)$ is Y -periodic in y and τ_0 -periodic in τ ; then $\theta_i(y, \tau) \in C^{2,2}(Y \times \tau_0)$ and, by (3.7)

$$(3.9) \quad \|\chi_1\|_{C^{2,2}(Y \times \tau_0); L^\infty(0, T; W^{2,r}(\Omega)) \cap W_r^{1,1}(\Omega)} \leq \frac{C}{\lambda}.$$

From (3.8)

$$(3.10) \quad \|Q_3\chi_1\|_{C^{2,2}(Y \times \tau_0); L^r(\Omega)} \leq \frac{C}{\lambda}.$$

We choose χ_2 such that the first terme in the second member of (3.7) vanishes. We have

$$(3.11) \quad Q_1 \chi_2 + Q_2 \chi_1 + Q_3 u_2^0 + \frac{1}{\lambda} (u_2^0 - \psi)^+ = 0 .$$

The resolubility condition of (3.11) is given by the equation (2.1)_{0,2}. We obtain

$$(3.12) \quad \|\chi_2\|_{C^{2,1}(\nu \times \tau_0; L^\infty(0, T; W^{1,r}(\Omega))) \cap W^{1,r}(0, T; L^r(\Omega))} \leq \frac{C}{\lambda} ,$$

$$(3.13) \quad \|Q_2 \chi_2\|_{C^{2,0}(\nu \times \tau_0; L^\infty(0, T; L^r(\Omega)))} \leq \frac{C}{\lambda} .$$

We estimate now $Q_3 \chi_2$. We observe that

$$(3.14) \quad \left\| \frac{\partial \chi_2}{\partial t} \right\|_{C^{1,0}(\nu \times \tau_0; L^r(\Omega))} \leq \frac{C}{\lambda} .$$

Moreover we obtain

$$(3.15) \quad \varepsilon \|A_3 \chi_2\|_{L^\infty(0, T; W^{-1,r}(\Omega))} \leq \frac{C}{\lambda} .$$

For this purpose, we have, for any $\varphi \in W_0^{1,r'}(\Omega)$, where $1/r' + 1/r = 1$,

$$\begin{aligned} & \left| \varepsilon \sum_{i,j=1}^n \langle a_{ij}(y, \tau) \frac{\partial^2 \chi_2}{\partial x_j \partial x_i}, \varphi \rangle \right| \\ & \leq \varepsilon \left| \sum_{i,j=1}^n \int_{\Omega} \frac{\partial^2 \chi_2}{\partial x_j \partial x_i} \left[\left(\frac{1}{\varepsilon} \frac{\partial}{\partial y_i} a_{ij}(y, \tau) \right) \varphi(x) + a_{ij}(y, \tau) \frac{\partial \varphi}{\partial x_i} \right] dx \right| \leq C , \end{aligned}$$

a.e. in $t \in \overline{0T}$.

From (3.9) ... (3.15),

$$(3.16) \quad \|\chi_1(x, y, 0, \tau)\|_{C^{2,2}(\nu \times \tau_0; L^\infty(\Omega))} \leq \frac{C}{\lambda} ,$$

$$(3.17) \quad \|\chi_2(x, y, 0, \tau)\|_{C^{2,1}(\nu \times \tau_0; L^\infty(\Omega))} \leq \frac{C}{\lambda} .$$

Then we can write (3.7) in the following way

$$(3.18) \quad P^\varepsilon w_\lambda^\varepsilon + \frac{1}{\lambda} (w_\lambda^\varepsilon - \psi)^+ - \frac{1}{\lambda} (v^\varepsilon - \psi)^+ = \theta_\varepsilon, \quad w_\lambda^\varepsilon(0) = \eta_\varepsilon,$$

where

$$(3.19) \quad \|\theta_\varepsilon\|_{L^\infty(0,T;W^{-1,r}(\Omega))} \leq \varepsilon \frac{C}{\lambda}, \quad \|\eta_\varepsilon\|_{L^\infty(\Omega)} \leq \varepsilon \frac{C}{\lambda}.$$

By the same methods used in [3]₃, from (3.18), (3.19) we have $\|w_\lambda^\varepsilon\|_{L^\infty(Q)} \leq \varepsilon(C/\lambda)$ and therefore

$$(3.20) \quad \|u^\varepsilon - u^0\|_{L^\infty(Q)} \leq C(\lambda^{\alpha/(n+2\alpha)} + \varepsilon\lambda^{-1}),$$

choosing $\lambda = \varepsilon^{(n+2\alpha)/(n+3\alpha)}$ in (3.21), we have (1.4).

4 - Proof of Theorem 2

At first, we give a regularization for the obstacle.

We consider, for any η, ε ($\eta > 0$ and $\varepsilon \geq 0$), functions which are the parabolic regularizing of ψ , defined by

$$(4.1) \quad \eta P^\varepsilon \psi_\varepsilon^\eta + \psi_\varepsilon^\eta = \psi, \quad \psi_\varepsilon^\eta(0) = \psi_0.$$

It is well known that ψ_ε^η are Hölder continuous [3]₁.

We make now a change of variable

$$y_i = \sqrt{\eta} x_i \quad (i = 1, 2, \dots, n), \quad \tau = \eta t, \quad \eta > 0 \quad \forall (x, t) \in \mathbf{R}^{n+1}.$$

The operator $P^\varepsilon = P_{x,t}^\varepsilon$ is transformed into an operator $P_{y,\tau}^\varepsilon$ and we have

$$(4.3) \quad P_{x,t}^\varepsilon = \frac{\partial}{\partial t} - \sum_{i,j=1}^n \frac{\partial}{\partial x_j} (a_{i,j}^\varepsilon(x, t) \frac{\partial}{\partial x_i}) = \eta \left[\frac{\partial}{\partial \tau} - \sum_{i,j=1}^n \frac{\partial}{\partial y_j} (a_{i,j}^\varepsilon(y, \tau) \frac{\partial}{\partial y_i}) \right] = \eta P_{y,\tau}^\varepsilon.$$

If we consider $\psi = \psi(y, \tau)$, we can read (4.1) in the following way

$$\eta P_{y,\tau}^\varepsilon \psi_\varepsilon^\eta(y, \tau) + \psi_\varepsilon^\eta(y, \tau) = \psi(y, \tau).$$

We set $w_\varepsilon^\eta(y, \tau) = (1/\eta)[\psi_\varepsilon^\eta(y, \tau) - \psi(y, \tau)]$, then

$$\begin{aligned}
 P_{y,\tau}^\varepsilon \psi_\varepsilon^\eta(y, \tau) + w_\varepsilon^\eta(y, \tau) &= 0, \\
 P_{y,\tau}^\varepsilon [\eta w_\varepsilon^\eta(y, \tau) + \psi(y, \tau)] + w_\varepsilon^\eta(y, \tau) &= 0, \\
 (4.4) \quad P_{x,t}^\varepsilon w_\varepsilon^\eta(x, t) + w_\varepsilon^\eta(x, t) &= -P_{y,\tau}^\varepsilon \psi(y, \tau).
 \end{aligned}$$

We can apply to (4.4) the L^∞ estimates [7] and we obtain

$$(4.5) \quad \|w_\varepsilon^\eta(x, t)\|_{L^\infty(Q)} \leq \|\psi(y, \tau)\|_{L^\infty(0,T; W^{1,r}(\Omega))} \leq \eta^{-\frac{1}{2}} \|\psi(x, t)\|_{L^\infty(0,T; W^{1,r}(\Omega))},$$

and by (4.5)

$$(4.6) \quad \|\psi_\varepsilon^\eta - \psi\|_{L^\infty(\Omega)} \leq C \cdot \eta^{\frac{1}{2}} \quad \forall \varepsilon \geq 0,$$

$$(4.7) \quad \|P^\varepsilon \psi_\varepsilon^\eta\|_{L^\infty(\Omega)} \leq C \cdot \eta^{-\frac{1}{2}} \quad \forall \varepsilon \geq 0.$$

We give now a regularization for the initial value u_0 .

In the case (a), we define, for any $\eta > 0$, u_0^η by,

$$(4.8) \quad \eta A^0 u_0^\eta + u_0^\eta = u_0.$$

It is well know that u_0^η are Holder continuous [3]₁, and therefore

$$(4.9) \quad \|u_0^\eta - u_0\|_{L^\infty(Q)} \leq C \cdot \eta^{\frac{1}{2}},$$

$$(4.10) \quad \|A^0 u_0^\eta\|_{L^\infty(Q)} \leq C \cdot \eta^{-\frac{1}{2}},$$

then we have

$$\begin{aligned}
 (4.11) \quad \|u^\varepsilon - u\|_{L^\infty(Q)} &= \|S^\varepsilon(\psi, u_0) - S^0(\psi, u_0)\| \\
 &\leq \|S^\varepsilon(\psi, u_0) - S^\varepsilon(\psi_\varepsilon^\eta, u_0)\| + \|S^\varepsilon(\psi_\varepsilon^\eta, u_0) - S^\varepsilon(\psi_\varepsilon^\eta, u_0^\eta)\| \\
 &\quad + \|S^\varepsilon(\psi_\varepsilon^\eta, u_0^\eta) - S^0(\psi_\varepsilon^\eta, u_0^\eta)\| + \|S^0(\psi_\varepsilon^\eta, u_0^\eta) - S^0(\psi_\varepsilon^\eta, u_0)\| \\
 &\quad + \|S^0(\psi_\varepsilon^\eta, u_0) - S^0(\psi, u_0)\|.
 \end{aligned}$$

We observe now that, by Theorem 1 and (4.7), (4.10),

$$\|S^\varepsilon(\psi_\varepsilon^\eta, u_0^\eta) - S^0(\psi_\varepsilon^\eta, u_0^\eta)\| \leq C \cdot \varepsilon^{\alpha/(n+3\alpha)} \cdot \eta^{-\frac{1}{2}},$$

and any other terme in the second member of (4.11) is smaller then $C \cdot \eta^{\frac{1}{4}}$ by (4.6), (4.9) and previous considerations.

Choosing in (4.11) $\eta = \varepsilon^{\alpha/(n+3\alpha)}$ we have (1.5).

In the case (b) we apply twice the method used in (a). We obtain at first the regularizing functions in $W^{3,r}(\Omega) \cap H_0^1(\Omega)$ and afterwards in $W^{3,r}(\Omega)$. Then we have in this case

$$(4.12) \quad \|u_0^\eta - u_0\|_{L^\infty(\Omega)} \leq C \cdot \eta^{1/4},$$

$$(4.13) \quad \|A^0 u_0^\eta\|_{L^\infty(\Omega)} \leq C \cdot \eta^{-3/4},$$

and so

$$\|S^\varepsilon(\psi_\varepsilon^\eta, u_\varepsilon^\eta) - S^\varepsilon(\psi_\varepsilon^\eta, u_0)\|_{L^\infty(\Omega)} \leq C \cdot \eta^{1/4},$$

$$\|S^\varepsilon(\psi_\varepsilon^\eta, u_0^\eta) - S^0(\psi_\varepsilon^\eta, u_0^\eta)\|_{L^\infty(\Omega)} \leq C \cdot \varepsilon^{\alpha/(n+3\alpha)} \cdot \eta^{-3/4}.$$

Then choosing $\eta = \varepsilon^{\alpha/(n+3\alpha)}$ in (4.11) we obtain (1.6).

5 - Proof of Theorem 3

In this case we consider, for any $k > 0$, the Friedrichs regularizing functions ψ_k and u_k of ψ and u_0 , namely

$$\psi_k(x, t) = \int_{\|z\| \leq 1} \int_{|\sigma| \leq 1} p(z, \sigma) \psi(x - \frac{z}{k}, t - \frac{\sigma}{k}) dz d\sigma,$$

$$u_k(x) = \int_{\|z\| \leq 1} q(z) u_0(x - \frac{z}{k}) dz,$$

where

$$p(z, \sigma) = \begin{cases} C \cdot \exp\left(\frac{1}{\|z\|^2 + |\sigma|^2 - 1}\right) & \text{if } \|z\|^2 + |\sigma|^2 < 1 \\ 0 & \text{if } \|z\|^2 + |\sigma|^2 \geq 1, \end{cases} \quad \iint p(z, \sigma) dz d\sigma = 1,$$

$$q(z) = \begin{cases} C \cdot \exp\left(\frac{1}{\|z\|^2 - 1}\right) & \text{if } \|z\| < 1 \\ 0 & \text{if } \|z\| \geq 1, \end{cases} \quad \int q(z) dz = 1.$$

We have $\psi_k \in C_0^\infty(Q)$ and $u_k \in C_0^\infty$ and we know that

$$(5.1) \quad \begin{aligned} \|\psi_k - \psi\|_{L^\infty(Q)} &\leq C \cdot k^{-\beta}, & \|\psi_k\|_{W^{1,\infty}(Q)} &\leq C \cdot k^{1-\beta}, \\ \|u_k - u_0\|_{L^\infty(\Omega)} &\leq C \cdot k^{-\beta}, & \|u_k\|_{W^{1,\infty}(\Omega)} &\leq C \cdot k^{1-\beta}. \end{aligned}$$

Then we obtain

$$(5.2) \quad \begin{aligned} \|u^\varepsilon - u\|_{L^\infty(Q)} &= \|S^\varepsilon(\psi, u_0) - S^0(\psi, u_0)\|_{L^\infty(Q)} \\ &\leq \|S^\varepsilon(\psi, u_0) - S^\varepsilon(\psi_k, u_0)\|_{L^\infty(Q)} + \|S^\varepsilon(\psi_k, u_0) - S^\varepsilon(\psi_k, u_k)\|_{L^\infty(Q)} \\ &\quad + \|S^\varepsilon(\psi_k, u_k) - S^0(\psi_k, u_k)\|_{L^\infty(Q)} + \|S^0(\psi_k, u_k) - S^0(\psi_k, u_0)\|_{L^\infty(Q)} \\ &\quad + \|S^0(\psi_k, u_0) - S^0(\psi, u_0)\|_{L^\infty(Q)}. \end{aligned}$$

We observe that, from Theorem 2 and (5.1)

$$\|S^\varepsilon(\psi_k, u_k) - S^0(\psi_k, u_k)\|_{L^\infty(Q)} \leq C \cdot \varepsilon^{\alpha/4(n+3\alpha)} \cdot k^{1-\beta}$$

and any other terme in the second member of (5.2) is smaller then $C \cdot k^{-\beta}$.
Choosing $k^{-1} = \varepsilon^{\alpha/4(n+3\alpha)}$ in (5.2), we have (1.7).

References

- [1] A. BENSOUSSAN, J. L. LIONS and G. PAPANICOLAOU, *Asymptotic analysis for periodic structures*, North Holland 1978.
- [2] A. BENSOUSSAN and U. MOSCO, *A stochastic impulse control problem with quadratic growth Hamiltonian and the corresponding quasi-variational inequalities*, in corso di stampa.
- [3] M. BIROLI: [\bullet]₁ *G-convergence for elliptic variational and quasi-variational inequalities*, Recent method in Nonlinear Analysis, Pitagora, Roma 1978; [\bullet]₂ *Estimates in G-convergence for variational and quasi-variational inequalities*, Free boundary problems, vol. 2, Pavia 1979; [\bullet]₃ *Regolarit  holderienne de la solution d'une in quation parabolique*, C. R. Acad. Sci. Paris, in corso di stampa.
- [4] M. BIROLI, S. MARCHI and T. NORANDO, *Homogenization estimates for quasi-variational inequalities*, Boll. Un. Mat. Ital. (5) **18** A (1981), 267-274.
- [5] M. BIROLI and U. MOSCO, *Stability and homogenization for nonlinear variational inequalities with irregular obstacles and quadratic growth*, in corso di stampa.

- [6] L. CAFFARELLI and A. FRIEDMANN, *Regularity of solution of the quasi-variational inequality of the impulse control theory*, Comm. in P.D.E. **3** (1978), 745-753.
- [7] E. DE GIORGI and S. SPAGNOLO, *Sulla convergenza di integrali della energia per operatori ellittici del 2- ordine*, Boll. Un. Mat. Ital. **8** (1973), 391-411.
- [8] O. A. LADYZENSKAYA, V. A. SOLONNIKOV and N. N. URAL'CEVA, *Linear and quasi-linear equations of parabolic type*, Mem. Amer. Math. Soc. 1968.
- [9] M. MATZEU and M. A. VIVALDI, *On the regular solution of a nonlinear parabolic quasi-variational inequality related to stochastic control problem*, Comm. in P.D.E. **4** (1979), 1123-1148.
- [10] F. MIGNOT et J. P. PUEL, *Inéquations d'évolution avec convexe dépendant du temps: application aux inéquations quasi-variationnelles*, Arch. Rat. Mech. An. **64** (1977), 59-91.
- [11] F. MURAT: [\bullet]₁ *Sur l'homogénéisation d'inéquations elliptiques du 2^{ème} ordre...*, Lab. An. Num. Université Pierre et Marie Curie n. 76013; [\bullet]₂ *H-convergence*, Séminaire d'Analyse fonctionnelle et numérique de l'Université de Alger 1977-78.
- [12] B. HANOZET and J. L. JOLY, *Convergence uniforme des itérées définissant la solution d'une inéquation quasi-variationnelle*, C. R. Acad. Sci. Paris, A **286** (1978).

Riassunto

In questo lavoro si danno stime della rapidità di convergenza della soluzione di una disequazione variazionale di tipo parabolico verso la soluzione del problema omogeneizzato in dipendenza della regolarità dell'ostacolo e del dato iniziale.

* * *